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WEST BENGAL STATE UNIVERSITY 

B.A. General Part-I Examination, 2021  

SANSKRIT 

PAPER: SANG-I 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. 
Candidates should answer in their own words and adhere to the word limit as practicable. 

1. Answer any three questions from the following:  
িনmিলিখত েয-েকােনা িতনিট pেűর উtর দাওঃ 

10×3 = 30

(a) State the dramatic significance of the episode of Brahmacārin in the first act of 
the Svapnavāsavadatta of Bhāsa. 
ভােসর spবাসবদt নাটেকর pথম অেì bhচারী বৃtােnর নাটকীয় তাৎপয� িনণ�য় কেরা। 

10

(b) What is your idea on Bhāsa’s style of writing, as a dramatist? Discuss. 

নাট°কার ভােসর রচনারীিত সmেক� েতামার মতামত কী ? আেলাচনা কেরা। 

10

(c) Under what circumstances was Vāsavadattā kept as a trust with Padmāvatī? How 
and when Vāsavadattā’s identity was disclosed to Padmāvatī? Discuss. 

েকান পিরিsিতেত পdাবতীর কােছ বাসবদtােক ন°াসrেপ রাখা হেয়িছল ? কীভােব এবং কখন 
বাসবদtার পিরচয় পdাবতীর কােছ pকািশত হেয়িছল ? আেলাচনা কেরা। 

4+6

(d) Who is Śukanāsa? Write in your own words the advice delivered by him 
according to your text. 

ǖকনাস েক ? পাঠ°াংশানুসাের তাঁর উপেদশাবলী িনেজর ভাষায় বণ�না কেরা। 

2+8

(e) Critically discuss the statement: 

 ‘ok.kksfPN’Va txr~ loZe~’ 

‘বােণািcŶং জগৎ সব�ম ্  ’ উিkিট সমীkাtক দৃিŶেত আেলাচনা কেরা। 

10

(f) Translate the following passage into Sanskrit: 10

 (i)  A farmer had two sons. They were very lazy. They would never do any 
work. The farmer, on his death bed called his sons and said– “I have hidden 
a treasure in that field. Dig the field and you will get it”. 

 এক kষেকর dই েছেল িছল। তারা িছল খুব অলস। তারা েকানও কাজ করত না। kষক, তার 
মৃtশয°ায় েছেলেদর েডেক বলল— ‘আিম ঐ মােঠ gpধন লুিকেয় েরেখিছ। েতামরা মাঠ 
খঁুড়েত থােকা এবং তা লাভ কেরা।’ 

 OR / অথবা 
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 (ii) There is a beautiful garden. There are many beautiful trees and creepers in 
the garden. In the trees and creepers, there are charming flowers. There 
bees hum sweetly. By the cooling of cuckoos, the spring is everpresent 
there. 

 একিট সুnর বাগান। বাগােন সুnর সুnর গাছ ও লতা। গাছ ও লতায় সুnর সুnর Ɏল। 
েসখােন Çমেরর মধুর gĂন। েকািকেলর kজেন বসn েসখােন িনত° িবরািজত। 

(g) Read the following passage and answer the questions given below in Sanskrit. 

িনmিলিখত অনুেcদিট পেড়া এবং pদt pűgিলর উtর সংskেত দাওঃ 

 vfLr JhioZre/;s czãiqjk[;a uxje~A r= “kSyf”k[kjs ?k.Vkd.kksZ uke jk{kl% izfrolfr 
bfr tuizokn%A ,dnk ?k.Vkeknk; iyk;eku% df”pr~ pkSj% O;k?kzs.k O;kikfnr%A 
rRikf.kifrrk ?k.Vk okujS% izkIrkA rs okujkLrka ?k.Vke~ vuq{k.ka okn;fUrA rrks uxjtuS% 
euq’;% [kkfnr% n’̀V%] izfr{k.ka ?k.Vkjo”p Jw;rsA vuUrja **?k.Vkd.kZ% dqfirks euw’;ku~ 
[kknfr ?k.Vka p okn;fr** bR;qDRok tuk% losZ ujkjkr~ iykf;rk%A 

 (i)  dfLeu~ ioZrs fda uxjeklhr~ \ 2

 (ii)  d% vklhr~ tuizokn% \ 2

 (iii)  pkSjL; fdeHkor~ \ 2

 (iv)  okujk% fdedqoZu~ \ 2

 (v)  uxjtuk% fdedqoZu~ \ 2

  

 Answer any four questions from the following 5×4 = 20

2.   Define and illustrate any two from the following metres: 
িনmিলিখত েয-েকােনা dিট  ছেnর লkণসহ উদাহরণ দাওঃ 
Hkqtiz;kr( f”k[kfj.kh( lzX/kjk( ekfyuh( izgf’kZ.khA 

2 2
1 ×2 = 5

3. Scan and define any two from the following metres: 

িনmিলিখত েয-েকােনা dিটর  গণিবভাগ পূব�ক ছn িনণ�য় কেরাঃ 

(i) ,oekJefo#)of̀ÙkukA 

(ii) vFkksZ fg dU;k ijdh; ,oA 

(iii) vkfo’Ñrks·#.kiqj%lj ,drks·dZ%A 

(iv) vfHktuorks HkrZq% “yk?;s fLFkrk x̀fg.khinsA 

2 2
1 +2 2

1

  

4. Decline any five from the following: 
িনmিলিখত েয-েকােনা পাঁচিট  শbrপ িনণ�য় কেরাঃ 
(i)  yrk in prqFkhZ ,dopu 

(ii)  vLen~ in lIreh cgqopu 
(iii)  efr in lIreh cgqopu 
(iv)  uj in rr̀h;k cgqopu 

1×5 = 5
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(v)  ekr ̀in iचeh f}opu 

(vi)  bne~ (Dyho) in rr̀h;k ,dopu 

(vii)  fir ̀in f}rh;k cgqopu 

(viii) ;q’en~ in ‘k’Bh cgqopuA 

  

5. Conjugate any five from the following: 
িনmিলিখত েয-েকােনা পাঁচিটর  ধাtrপ েলেখাঃ 

(i)   ¹Hkw in yksV~ 2nd person singular 

(ii)  ¹xe~ in yV̀~ 3rd person plural 

(iii)  ¹Ñ (ijLeSin) in y³~ 2nd person plural 

(iv)  ¹ǹ”~ in yV~ 2nd person plural 

(v)  ¹iB~ in yksV~ 2nd person singular 

(vi)  ¹lso~ in yV~ 2nd person plural 

(vii)  ¹ir~ in fof/kfy³~ 2nd person dual 

(viii) ¹on~ in y³~ 1st person plural. 

1×5 = 5

  

6. Translate into Bengali or English any one of the following: 

িনmিলিখত েয-েকােনা একিট  েųাক বাংলায় অথবা ইংেরিজেত অনুবাদ কেরাঃ 

5

 (i) iwoZa Ro;kI;fHkera xresoeklh& 

 PN~yk?;a xfe’;fl iqufoZt;su HkrZq%। 
 dkyØes.k txr% ifjorZekuk 

 pØkji³~fDrfjo xPNfr HkkX;i³~fä%॥ 

 (ii) [kxk% oklksisrk% lfyyeoxk<+ks eqfutu% 

  iznhIrks·fXuHkkZfr izfopjfr /kweks eqfuoue~। 
  ifjHkz’Vks nwjkn~ jfojfi p laf{kIrfdj.kks 
 jFka O;koR;kZlkS izfo”kfr “kuSjLrf”k[kje~॥ 
  

7. Write short notes on any two of the following: 

েয-েকােনা dিটর  সংিkp টীকা েলেখাঃ 
2 2

1 ×2 = 5

 (i) vk#f.kA 

(ii) ykok.kdA 

(iii) leqnzx̀gA 

(iv) olUrdA 
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8. Explain with reference to the context any one from the śloka: 

িনmিলিখত েয-েকােনা একিট  েųােকর সpসñ ব°াখ°া কেরাঃ 
5

 (i)  nq%[ka R;Draq c)ewyks·uqjkx% 

 LèRok LeR̀ok ;kfr nq%[ka uoRoe~। 

 ;k=k Ros’kk ;n~ foeqP;sg ok’ia 

 izkIrku.̀;k ;kfr cqf)% izlkne~॥ 

 (ii)  iz}s’kks cgqekuks ok lकYiknqitk;rs। 

 HkrZ̀nkjkfHkykf’kRoknL;ka es egrh Lork॥ 

  
9. Translate into Bengali or English any one from the following: 

িনmিলিখত েয-েকােনা একিট  অনুেcদর বাংলা অথবা ইংেরিজেত অনুবাদ কেরাঃ 
5

 (i) loZFkk refHkuUnfUr rekyifUr ra ik”osZ dqoZfUr-------- ;ks·gfuZ”k 
 euojreqijfprkजfyjf/knSorfeo foxrkU;drZO;% LrkSfr ;ks ok ekgkRE;eqn~Hkko;frA 

 (ii)  eulk nsork/;kjksi.kizrkj.kk-lEHkwr-lEHkkouksigrk”pkUr%izfo’VkijHkqt-
 };feokReckgq;qxya lEHkko;fUrA RoxUrfjr-r̀rh;ykspua LoyykVe~  vk”kकUrsA 

  
10. Account for case endings in any five from the following underlined words: 

িনmেরখািìত েয-েকােনা পাঁচিট  পেদর কারক-িবভিk িনণ�য় কেরাঃ 
1×5 = 5

 (i)  f”k”kq% “k¸;ke~ vf/k”ksrsA 

(ii)  f”k”kks% ljyrkA 

(iii)  nqX/ks ek/kq;Ze~ vfLrA 

(iv)  ;ks/ks’kq vtZqu% Js’B%A 

(v)  l fg dkdkr~ Ñ’.k%A 

(vi)  v/khrh O;kdj.ksA 

(vii)  ckyd% iq’isH;% Lig̀;frA 

(viii) QysH;% m|kua ;kfrA 

(ix) fHk{kqd% iknsu [kज%A 

(x) ckydsu iqLrda irsA 

  

11. Illustrate the uses of any two from the following: 

িনmিলিখত েয-েকােনা dিট  pেয়ােগর উদাহরণ দাওঃ 
2 2

1 ×2 = 5

 (i) fno% deZ p( (ii) /kkjs#Ùke.kZ%( (iii) ‘k’Bh gsrqiz;ksxs( (iv) vk[k;krksi;ksxsA 
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12.(a) Join in Sandhi any two from the following: 

িনmিলিখত েয-েকােনা dিটর  সিn কেরাঃ 

1×2 = 2

 (i) izkd~ $ ,o( (ii) fir% $ j{k( (iii) ØhMu~ $ vk;fr( (iv) equh $ ,rkS( 
(v) “khr $ _r%A 

  
(b) Disjoin in Sandhi any three from the following: 

িনmিলিখত েয-েকােনা িতনিটর  সিnিবেcদ কেরাঃ 
1×3 = 3

 (i) ujks·;e~( (ii) iraLr#%( (iii) yrso( (iv) fo/kwjktrs( (v) l|kstkr%( (vi) lnSoA 

  

 N.B. : Students have to complete submission of their Answer Scripts through E-mail / 
Whatsapp to their own respective colleges on the same day / date of examination within 1 hour 
after end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple copies of 
the same answer script. 
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